FgArea: ['1, '2']
SS40 XX6
2024-12-25 (Day 60)




Plot [[' EcFgro', 'EcFzExp', 'EcPltng’, 'EcDef’ ]]

2200 :
: —>—  EcDef
2000 - :
1
1
1800 - :
1
1
1600 - i
1
1
1400 - :
1
1
1200— Warning: COI [’ ‘I:II.I.'C:‘:I:.".:SCZ‘.’Z:I::I:.C.“IZ:‘.:I‘.:'.‘2:22:2.'II2:2‘.'.2;2';IZ.‘..',22I::I:2I:I:2:22IZ2I:I:2:2IIZ2:2I:2I:2I::I:IZ2I:2:22IZII2I:2:22III::I:2I:2:2:22I:2I:2:2:22I::I:2:2I:2:22IZ2I:I:2:22IZ2I:I:2I:2I::I:IZ2:22:22:2:22:22:22:2:22:
1
T T I T T T T
0 50 100 150 200 250




Plot [’ ECopt’]

2200
—@— ECopt
2000
1800
1600 ~

1400 ~

1200 ~

0 50 100 150 200 250



Plot Sensor and FgRec Data

dFVi
dFVo

——

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

60.0

59.9

59.8

59.7

day

59.6

59.5

59.4

—o— DUC

96
94
92
90
88 -
86

60.0

59.9

59.8

59.7

day

59.6

59.5

59.4

60.0

59.9

©
(=)
{9}
~
o
o5,
©
e]
©
o
o
® ®
)
=)
(9]
<
o
i)
> I
o &
o o
[ ) [
T T T T T T T T T T T
o o o o ) o 153 © ~ © 0
g ™ ™ ™ ™
< < ™ ) N N - .
(9] ™ (9] (a2} [ap] [sp] ™ o o o o

60.0

59.9

99.8

59.7

day

59.6

59.5

59.4



Plot [["I", "lopt'],

[T, "Topt'],

['RH’,

"RHopt’ ],

['ETcl’, "optETcl’],

"LAI

, 'optEtRate’ ]

400 -

300

Y

i

— 11

{1

I

200

/V

100

RN

—

A~

0

100

150

200

250

30 A

25

20

15

10

80

75

— RH
———  RHopt

70

65

60

55

350

300

—— ETcl
optETel |

250

200

150

100

50

3.0

— LAl |

2.5

2.0

1.5

1.0

0.5

2.00

1.75

optEtRate

1.50

1.25

. Td

1.00

V- VWVWANA MM AL
WU A

VU 7

0.75

0.50

0.25

100

150

200

250



Trend plot forXX6 1
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Trend plot forXX6 2
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